CodeNo.: 2182

ELECTRONICS DEVICES AND CIRCUITS

Time: 2.30Hourg| [Maximum Marks: 50
[Minimum Marks: 17

NOTES:

i) Attempt all questions.

i) Students are advised to specialy check the Numerical Data of question paper in both versions. If there is any
difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii)  Useof Pager and Mobile Phone by the studentsis not allowed.

Q1) Answer any two parts of the following : [2x5=10]
a) Describe about need of multistage amplifiers.
b) Explain h-parametersin atwo-part network.

c) Writeanote on RC coupled amplifiers.

Q2) Answer any two parts of thefollowing : [2x5=10]
a) Differentiate between voltage and power amplifiers.

b) Explain about importance of heat sinks.

c) Explain about single stage power amplifiers.
Q3) Answer any two parts of thefollowing : [2x5=10]
a Describe about Barkhausen creterion for oscillators.

b) Describetheworking principle of Wien's Bridge oscillator,

0 Write a note on series resonant circuits.

Q4) Answer any two parts of the following : [2x5=10]
a) Describe about clipper using zener diode.

b) Describe about IC741 and its pin configuration.

0 Describe about multi-vibrators.
Q5) Write short note on any two of the following : [2x5=10]
a) Feed back

b) Hartley oscillator
c) Idea Op-Amp
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